—0 0
3X+2y>0

1 ooooo 0000000000 O0oDoooon
xy> 0

(2) 000 2log,(3x+2y)>5+log,xy0 000000 000000000

goon
ggbbbuooogbbboooobbboooobbbooboooobobbodao
gogbbobuogogbboobobbooogbbbboooobbbodgooobbogao
gogbbbuooobbboooobbbuoooobbob

0(@)oooo

0003x+2y>000000000000000000000 xy>00000000
000000000000 000000000000000000000000000
xy>00000000000000000000000000000000

goooooooooooooooo@oooooo yoboooooooooooo
oo

O00Oxy>0000x>000y>00000 x<0ODOy<O0OOOODOODODOOO
gbgobgoobobboboobuoobooboobobbooboobooboob
goo

0@)0o0o0O
3x+2y>0000y>-2x 00000000000000

<

y=-3x

gobobodgo

O0Oxy>0e (x>000y>0000 (x<00Oy<0)0OOO0DOOO0OOOO0O



XN

gobobodgd

O00003+2y>000 xy>000000000000O000O0OO

y

gboboooodgn

0(@)oo0oo
(0)00000000000003x+2y0xyDOOOOOOO0OO0O0OO (0)0000
ooooo

00000000000000(000000000000)0000(@),0)000
000000000 ()0 (0)0000000000000000000000000
00000000000000000000000000000000

goboboogn

000000 (0),([0)0000000 (@)D (0)000000000000oodO
oooooooo

000(0)00000000000000000000(@)0(0)0000000
000000000000000000




gogbbobuoooobobooooboboooooboboooobooboboobooo
ggbbbuooobobobuoooobbbooobboboooobboooobboao
gobmgooboboooobbboooooobobooon

oo ooooboobbbbooooobobbbbbbbbbobooogo
ggbbbuogobbbuooobboooobbbuooobbboooobboao
ggboboboogoog

gbogobogbuodboobogbobobbobboobuooobbobbobo
gogbobobooodgbobobodo

0@)oooo
210g,(3x + 2y) > 5+ log, xy

bbbl «-0b0bbugoobbboogbobbbooobbbooogn

3x+2y>000 xy>00000000(0)00 x>000y>0000000000

210g,(3x + 2y) > 5+ log, xy

log,(3x + 2y)? > log, 2° + log, Xy

log,(3x + 2y)? > log, 32xy

(3x + 2y)? > 32xy

9x% + 12xy + 4y* — 32xy > 0

9x? — 20xy + 4y* > 0

(9x-2y) (x-2y) >0

x-2y>000 x-2y>0000 (%x-2y<000 x-2y<0)

x>0,y>000000000000D00OO0DO0OOOOODOD



XN

gobobodgog

gboobgobobboboobuooboobobbobooboobooboon
gmoooboobgoboobooboobobooboobobbobooboon
gboobdgobgobgoobooboobobbobbobbobobooboob
googooooo

gogno

ogooooogo
httpy//www.hmg-gen.corm

goooobbbbbbooooooouooboobobbbbooooood
magdai@hmg-gen.com

ogoooooooon
godoobooooooonoooouoooooonooooood
httpy//www.hmg-gen.corfmerumagatouroku.html



